
 
 

Formulae for 2244  
 
 
 

𝑠 = √
∑(𝑥 − 𝑥̅)2

𝑛 − 1
 

 

𝜎 = √
∑(𝑥 − 𝜇)2

𝑁
 

 
 

𝑃(𝑥) =
𝑛!

(𝑛 − 𝑥)! 𝑥!
𝑝𝑥𝑞𝑛−𝑥 

 
𝜇 = 𝑛𝑝 

 
𝜎2 = 𝑛𝑝𝑞 

 

𝑧 =
𝑣𝑎𝑙𝑢𝑒 − 𝑚𝑒𝑎𝑛

𝑆𝐷
 

 
 

𝐸 = 𝑡
𝑠

√𝑛
 

 

𝐸 = 𝑧√
𝑝̂𝑞̂

𝑛
 

 

𝑧 =
𝑝̂ − 𝑝0

√
𝑝0𝑞0
𝑛

 

 

𝑡 =
𝑥̅ − 𝜇0

𝑠 √𝑛⁄
 

 
 

𝑡 =
(𝑥̅1 − 𝑥̅2) − (𝜇1 − 𝜇2)

√
𝑠1
2

𝑛1
+
𝑠2
2

𝑛2

 

 

𝑧 =
(𝑝̂1 − 𝑝̂2) − (𝑝1 − 𝑝2)

√
𝑝̅𝑞̅
𝑛1

+
𝑝̅𝑞̅
𝑛2

 

 

𝑝̅ =
𝑥1 + 𝑥2
𝑛1 + 𝑛2

 

 
 

𝐸 = 𝑡√
𝑠1
2

𝑛1
+
𝑠2
2

𝑛2
 

 
 

𝐸 = 𝑧√
𝑝̂1𝑞̂1
𝑛1

+
𝑝̂2𝑞̂2
𝑛2

 

 
 

𝑟 =

∑(
(𝑥 − 𝑥̅)
𝑠𝑥

×
(𝑦 − 𝑦̅)
𝑠𝑦

)

𝑛 − 1
 

 
 

𝑏 =
∑(𝑥 − 𝑥̅)(𝑦 − 𝑦̅)

∑(𝑥 − 𝑥̅)2
 

 
𝑎 = 𝑦̅ − 𝑏𝑥̅ 

 
 
 

𝑡 =
𝑏 − 𝛽0

𝑠𝑒
√∑(𝑥 − 𝑥̅)2⁄

 

 

𝑠𝑒 = √
∑(𝑦 − 𝑦̂)2

𝑛 − 2
 

 
𝑌 = 𝛼 + 𝛽𝑥 + 𝜀 

 
∑𝑛𝑖(𝑦̅𝑖 − 𝑦̿)2

𝑘 − 1
 

 
 

∑ ∑ (𝑦𝑖 − 𝑦̅𝑗)
2𝑛𝑗

𝑖=1
𝑘
𝑗=1

𝑁 − 𝑘
 

 
 

∑(𝑦𝑖 − 𝑦̿)2

𝑁 − 1
 

 
𝑌 = 𝜇 + 𝛼𝑖 + 𝜀 

 
 
 
 

   
 
 


